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1.Talking About Past Events

Answer the questions (1-2) according to the passage.

Alexander Fleming was born in Ayshire, Scotland, on August 6, 1881. He 
was a famous scientist. He studied medicine and served as a physician 
during the World War I. Alexander Fleming got married to Sarah Marion 
McEIroy and they had a son. He discovered the penicilin after doing a 
lot of experiments at the laboratory. It was one of the most important 
discoveries of the century. He won the Nobel Prize for Medicine in 1945. 
Fleming died because of a heart attack on March 11, 1955.

1.	 In this paragraph, there is no information about Fleming’s - - - -.

A)	birthday	 B)	prize	 C)	 parents	 D)	marriage

2.	 Which of the following is NOT correct according to the paragraph?

A)	He served as a physician during the World War II.

B)	Alexander Fleming was a great scientist.

C)	He found the penicilin.

D)	He had a son.

İ ş l e y e n  Z e k a  Ya y ı n l a r ı

 3-4: For these questions, choose the 
best option to fill in the blanks.

3.	
They moved to 
another city - - - - .

When did they 
move to another 
city?

A) in the future	 B) in 1996

C) now	 D) later

4.	

- - - -.
When did you 
move to France?

A)	With my family

B)	To study at university

C)	Five years ago

D)	It was very important for me

5.	
(I) They met in 2002. (II) The next year they 

decided to get married. (III) In 2004 their 

baby was born. (IV) They are from Canada.

Which of the sentence is ODD one out?

A) I	 B) II	 C) III	 D) IV
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Answer the questions (6-8) according to 
the dialogue below. 

Hi, Tom. Are you still in 
Turkey?

Really? When did you 
come back?

How long did you stay 
there?

Hi, Suzy. No, I’m in 
London.

Yesterday. I had 
a great holiday in 
Turkey.

For a week.

6.	 Which one is CORRECT?

A)	Tom is in Turkey now.

B)	Suzy was in Turkey.

C)	They are talking about school.

D)	Tom came back to London yesterday.

7.	 How long did Tom stay in Turkey?

A)	For two weeks.

B)	For seven days.

C)	For two months.

D)	For a month.

8.	 Did Tom like his holiday?

A)	No, he hated it.

B)	It was too tiring for him.

C)	Yes, he thinks it was wonderful.

D)	He didn’t enjoy his holiday.

Answer the questions (9-10) according to 
the text below.

I’m Robin. I’m a famous author in my 
country. I was born in Rio de Janerio, but 
I grew up in Barcelona. I lived there until 
1998. Then I moved to Manchester to 
study English Literature. I got engaged 
in 2000, but I didn’t get married. I lived 
alone. I stayed ten years in Manchester. 
Then I went back to Barcelona. I wrote a 
lot of novels and I won a lot of prizes in 
my country.

9.	 Which of the following is CORRECT 
according to the text?

A)	He got married in 2000.

B)	He was born in 1998.

C)	He won a lot of medals.

D)	He studied English Literature.

10.	 Which of the following is NOT correct 
according to the text?

A)	He was alone.

B)	He moved to Barcelona in 1998.

C)	He stayed ten years in Manchester.

D)	He was a successful author.


